LOSUNG zu bsp-1431-3/FMDV
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Kostenlos auf dw-aufgaben.de
Aufgaben-Quickname: 1431
Aufgabe 1
Multipliziere schriftlich wie im Beispiel a).
3 4 8 1 - 43 8 0 6 6 - 3 8
1 3 9 2 4 2 4 1 9 8
1 0 4 4 3 6 4 5 2
"1 19 6 8 3 D)™"30 6 5 0
8 305 - 6 3 3 9 0 - 4 0
4 9 8 3 0 1 3 1 6 0
2 4 9 1 5 0 0 0 0
975 23 2 15 D=1 3160 0
Aufgabe 2
Multipliziere schriftlich wie im Beispiel a).
8 3 7 5 8 8 2 6 7 5 2 - 7 7 8
6 67 30 60 40 4 47 2 6 4
6 7 30 0 40 4 47 2 6 4
a) 1 6 7 15 10 b) 5 54 60 41 16
7 3 8 6 7 5 0 5 12 b5 3 0 5 6
23 0 5 - 4 7 4 50 43 - 40
9 2 2 20 2 20 1 47 12
1 6 21 3 35 0 0 0 0
1 .0 9 .2 5 7 0 2 0 2 .2 2 4
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Aufgabe 3
Multipliziere schriftlich wie im Beispiel a).
3 3 8 2 5 3 9 7 5 9 -« 8
2 6 4 4 7 7 4 7 2
6 6 3 7 1 4 1
)T 70 6 b))% 1 11 )5 1 3
2 - 7 8
1 9 6
2 2 4
)5 15 1
Aufgabe 4
Multipliziere schriftlich wie im Beispiel a).
8 4 2 9 8 5 4 9 -5 7
7 D &7 18 2 27 24 4D
6 67 33 16 3 38 34 63
)% 9 5 a6 b3 1 2 9 3
3 7 4 - 6 3 6 4 9 -1 5
2 22 4 A4 6 4 9
1 11 22 2 3 32 24 45
)5 3 5 6 2 d) 9 7 3 5
Viel Erfolg!
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